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B B BBX —H 43 44] 87| 23.7 63.3
2B &5 XA 43 42| 85/ 19.5 65.5
M EH Rk 38| 46| 84 15.7 68.3
M [/ SZE 48] 49| 97| 27.7 69.3
5G  |[fhEF 1EAE 43| 43| 86| 16.5 69.5
6 |[FRAF HE 44 45/ 89 19.5 69.5
i [EAX =B 44 51| 95/ 25.5 69.5
8. [FIEF H=E 46] 55 101 29.5 71.5
o |8 18 A1 42| 831 10.8] 72.2
1062 |l 287 46] 43| 89 16.5 72.5
M RE EE 44 47 91| 17.5 73.5
1261 BE B 42| 48] 90| 15.7 74.3
13 BFO FA A7 48] 95/ 20.5 74.5
146 SNl B~E 45 51| 96| 20.7 75.3
1561 |hi  FH 49 43| 92| 14.7 T71.3
166 A &= 47 51| 98] 20.7 77.3
1762 [IL4E  BX 51 55/ 106 27.7 78.3
1862 FlL FnEH A4] 48] 92 13.7 78.3
196 RS EH 54/ 53] 107 28.5 78.5
2061 [IrE  BEF 49| 52| 101 22.5 78.5
2161 [lUF  IESA 46] 51| 97/ 17.7 79.3
2261 Ak FLEB 48] 47| 95/ 15.5 79.5
2361 [ FEEA 57 51| 108 27.7 80.3
2461 AR EA 48] 55 103 22.7 80.3
2561 |FA  EH 48] 49| 97 16.5 80.5
2661 | FEF EX 46] 56| 102 20.5 81.5
2161 [HA E—H 53] 56| 109 25.5 83.5
2861 |[fERA BA 51 50/ 101 16.7 84.3
2961 | K% W= 48] 56| 104 19.5 84.5
06 | KiF X 57| 58] 115/ 27.7 87.3
6L Mg 1FA 56| 61| 117/ 25.5 91.5
26 B &S 58] 68| 126/ 30.0] 96.0
3L [FE EF 52 69| 121 22.6] 98.4
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